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QUESTION 1

What are two Microservices provided by contrail services orchestration? (Choose two) 

A. REST API server 

B. Fabric Manager 

C. VIM director 

D. Security director 

Correct Answer: BD 

 

QUESTION 2

Exhibit: 

Which type of SDN is shown in the exhibit? 

A. API-based SDN 

B. OpenFlow-based SDN 

C. SDN as an overlay 

D. SDN as an underlay 

Correct Answer: B 
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QUESTION 3

Which type of SDN are you using when you automate a Junos device using PyEZ and NETCONF? 

A. API-based SDN 

B. SDN as an overlay 

C. SDN as an underlay 

D. OpenFlow-based SDN 

Correct Answer: A 

 

QUESTION 4

Which statement is correct about alarms in AppFormix? 

A. Static alarm are compared against fixed thresholds 

B. Alarm thresholds cannot be changed by the user 

C. Alarm actions cannot be change by the user 

D. Static alarms are compared against historical data 

Correct Answer: A 

 

QUESTION 5

Which OpenStack component is responsible for user authentication and authorization? 

A. Glance 

B. Nova 

C. Keystone 

D. Neutron 

Correct Answer: C 
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